N RNA

PLAYGROUNDS
designed for sustainahble and creative play

302-002-004




302-002-004

(1:60)

1700 3279

2342 —
1697 — 1963
1791

1362 - (
N ———1—1490
1027\ §
) — 1079

692
100
"0"
-100

574

EN 1992-1-1

(1:60)

1850

1500

5150

6284

&8 i_.. | @ 2R . .

26m? 6,3x5,2x2,9m ~204kg 45x300cm 80kg

NORNA PLAYGROUNDS A/S - Virkefeltet 1, DK-8740 Breedstrup « Phone +45 7575 4199 « mail@norna-playgrounds ¢ noma-playgrounds.com )

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used,
a fee of 10% of the assumed contract price will be charged.



302-002-004

D11441

RS00121

RS00120
SR00138

RS00119

RS00109

RS00108

SR00088

SR00087

Parts List
QTY | PART NO DESCRIP.
1 | D11441 450x3000mm, assembled
1 |RS00108 Robinia, @120x1700mm
1 |RS00109 Robinia, @120x1650mm
1 | RS00119 Robinia, @120x1600mm
1 | RS00120 Robinia, @120x1550mm
1 | RS00121 Robinia, @120x1450mm
1 | SR00087 @60/480 right ladder frame
1 | SR00088 260/@80 left ladder frame
1 | SR00138 Side with steps




302-002-004

LE16073

LE16152

LE15250

LE16556
LE16053

LE15250

LE16152

SR00031

SR00128

LE16056
LE16552
Parts List
QTY | PART NO DESCRIP. LE16231

4 |LE15250 |M16x170 mm
1 LE16053 |M8 cap nut
10 |LE16056 |M12 cap nut LE16168 re— — — — —

LE16073 [8x70 mm :( \,
4 |LE16152 |M16 - @30 mm | =
11 |LE16168 |[M12 - @24 mm —
10 |LE16231 [M12x190 I Z I‘J
6 |LE16406 |10x85 mm | - 2 NORNA 100g
10 |LE16552 |@34/38 mm ¢ . (LE16604)

Lubricating paste

3 |LE16556 |@42/38mm |

SR00031 |9&54x90 mm
10 | SR00128 |@38 mm, Spacer L — — — — —










